F
R
L

=l
A0l

 MmaolE | AL
7|A1A T
2 sw
Tog =

T eee O
AELE #iH (o]
Mz F

R

0
oTT

% FCSSOO Series

—= T O

Q15 221 TE FCS500-1000 Al2|=

FRL F 500
PR 1000 Series 1|
=

=10 2308 de
=

1 &84, 28, SUEE UM 22 §5S #&

_ FRL | ES2/50-80(0/min)
29 FRL
eI
oratz)|
FR
1% FR
 m®UR
R

B
ogh

—=

—
o
=

0!

0x
ng

>
OHI

F

3R FCS1000 series

H3R WS2/300~400(0/min)
00} SAH

ALlE
HEEY

Ig 5y
=
52 7))

]

LR LISW

ofof

8% o

©0|2Lt0H o
)

BN o
Cajo|of +

ST
== [e}]
£2jo|of
TR
|
cajol
TEYE]

ﬁﬂg\

542 CKD

B

BAR 5|2 o = T Teel I XTI || [[TE
[T} 228 Ugu FCS
QU OIAE Xt e

|

@ A3(DVD 8) g&7Ie]

@A i T I Al
=1



FCSSOO' 1 000 Series

oE AN
FRL
FR
—_— O 0
JAEE o2} 0.01um, HH = 99.99% F
- N . R
I AIHES M510] 042t HE 0.01um, HH E8 99.99%= MHGIHELICE N
L
cajol
P ES b0
c>l.TnC>:| 7|HAL
CER
SHE OIS 34, WU HITI0] O St FAEIASLIC e
_ 229
EoX|2-ot 25t JaT %0 I N N =110 AEE g
= ;38 ________________ S_é_kl' _II- ?’—*— aw
60 =TALRI0|2t X|Z 3mm 0[5l EE 3 H=E
o1z ZoHKPa) 50 e iTE e o rro o He FR
P1=0.3MPa 40 oo oo 2, ooy f5| OfF A2 R
BgSOlmn 0 B 20| = CI3Y PXYUCL o m2o| 3R
o — B@4a14 FCSS00-HoHs Hi7| 00{0]l ZEE|0f U= THEIZ 017 =0 FR
% o1 02 03 04 05 £ SUSHH SHASHA| M ELCH X2 =mE
- - BxIzHg) L 0| SZAIRS T A JH 014 20| 5B FRL
A2d-dE- e A2t BES TE ofmo| ARILICL T SYFRL
2 BIX0| 8tg J1X|T YOO R TP 8X ojmE
S 8%{0| HoA0| H|3 3~10812] 04 PIXIS 2T U7| 20 o eEE ARCE Z04
REOIHM MAEQULICH SY FFO02HH A™H-ZAFEV 7Hs=LICH o |
w2 =
ABFRL
=7 MY weE L HHFRL
BEE2 25 X MES HAl
ZTEEH IYX| SE QoA L M5t USLIC {] :

: Jry B
QK| 22| 20| e UJ 2R
S| EIUS S AOIAE M, YBPEQ| Q0| SOIOZ HoIgt 4 Bl 324
QUBLICE, ) e

me HE=]
ITH S} AT A N EI
SEot dE 1 nEs i
v ‘ v
5002} 1000 S242| 27HX| A2, THRS AX|9 AE|QIZ|A,
F20ll= ¥EX| IS, S=LEAL B2t ULIA B2t ZH|SH LS LICH (
B B -8
00f R
ZH 2y Ip|
A
22 SW
EL SW
007 AL
Qlzjols 22l e v 73 2 s
FCS series &{| A|
4 06 @8 @10 @12
- o o4 96 8 10 @12 R1/8 R1/4 R3/8 Rc1/8 Rcl/4 Rc3/8
o~ I —
50-80
FCS500 o0
. |
: 1 |
P\ § 300~400 =
Fes1000 - AddRAAD SN
o o - ol 2ol
¥ i
0| MES SHI21 QHHGHA| AHBS}| fIsHM = BHEA| ALEALS =l
A T Wl o
B

CKD 543



JELE

L-O

=& EH

FCS500 series

of
Al
0
FA

=]

J

Nk Inpy
d

TUHT | o

=

=

o
2

mr

=]

N |n

27| Q2HmYmin[ANR])

F.R.L
CEm @< 714: Re1/8, Re1/4, R1/8, R1/4
HEX| I8 ¢4, 06, ©8
F _
JIS 7|2
: s
L
=]
HEEOE A |OF
LT
24 sw HE H2HE £X]| EIY S=LIA} b2t Ef P9 A2|HE AHQI2|A E}
el o st= FCS500-66-P90 | FCS500-88-P90
— FCS500-(3%1)(3%2 FCS500-(3%1)(%2
fg-z- s BRE Gl B FCS500-66-P94 | FCS500-88-P94
Cww | AR A 2= 27|, N:
TEF IN = 780x1) 4, 06, P8Of|A| MEH 4, 06, 8, R1/8, R1/40| A MEH Re1/8 Ret/4
d3FR oUT = 7E(%2) @ @5, GO =S @ @5, @6, RIS = Rc1/8 Rc/4
27 R U MPa 15 15 2.25(%= 7)), 1.5(N2)
zofFR URE 213 MPa 0.5(%t, 45~50°C= 0.2) 0.5(Kt, 45~50°C= 0.2) 05
=HE | AR oY MPa -0.095~0.99%2 -0.095~0.99%2 -0.095~1.5(2= 27(), -0.095~0.99(N2)
% o 2C.9H 25 T 5~50 5~50 5~45
SURRL "oy um 0.01(H|H £8 99.99%)
CH
Wo | AL 0/min(ANR)F 50(H8H8 EtY2 80) 50(H88A, 8AHS Ef2IS 80) 50 80
otz EH g 45 45 100 100
- L Z3)of0to|= Z2/0/010|, YZ0|5(LZ00/E X2 AEQIZA
L TE | AO|A £3 E2/0i010|= £3 Z2(ofoio|= AHQI2[A
03 FRL dla|HE E 2T+ E
HUR| =Y -ZA+TH SEUSOI|A] 2 ot
NzFER| A =X ME
E Z1: 1x} 22 0.7MPa, 212 25t 0.03MPa Tjo| X7| QQIL|CH
52: 21 AR QRS AL S0 Tl HRLICH AR 20 2T AIR 22i0] B THIS SIsh FHAIQ.
HMER
00} BAE
ALlE
I Qu sy
INUEDN oll E A ol oH 1} Efol
_ EELT; =X Ef, Z"L’lfﬂ{ Ete @FCS500-H8H8 @FCS500-H88A @FCS500-8AH8  @FCS500-HAH4 @FCS500-H6HGE @FCS500-HAGA
ME 2ot 21 ALE L 2 @FCS500-88-P90-P94 @FCS500-66-P90-P94(p4, 06 IE, R1/8, Ro1/g H4S H83t HE)
1.1 0.1 0.1 — T T
§’J ] AE 27t 0.09 0.1I‘\APJ II “"Mp‘a/{ s 0.09 O.1Pa Il Ll I Jooes [
= 4= .. a
s A 0o ( NS 5 0.08 J / 0.08 l
=2 - L8
ooy | S g oo ] 1/ g JIVAV AL
5 08 g 006 / R / /
)gue' 7‘7| (M_P'a) = 0.05 / :':I 0.05 I / /
- 07 5 ° / g o [/ //
Cw (MPa) 0.04 7/ / MPa) 5 04 // /‘
06 0.03 S/ //—0.7MPa—| 0.03 / /
s 5 10 15 20 25 30 35 40 45 50 / P eV Vo4
Az oW oo 0.02 / 0.02 77/
0404 4k ==(0) "/ /S
‘W al 1 0.01 7 0.01 " S 4
saES 0 =~
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1 0.11 0.12 0 0.1 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1 0.11 0.12

27| L2Hm¥min[ANR])



8 HA| Y

®=:x| Efgl

(Fessoo)-(H4)(H4)

7|15 g (A TINES
EERT) RESERE
(] X2 M)
@out=
B4 77

@2E|Q1Z|A B

715 g
(32 M)
29 H2l M)

=27 THE JH

FCS500-B 2 0q)

(a2 17H, FF LtA(M4 x 6) 271)

2X+ TX| S At

@2% TX| HE SYUM M 7St #1&

FCS500 — -+ —

(@122 No.CC-1226)

FCSSOO Series

S HEAl Y

F.R.L
F-R
F
R
L
QN = 2 3& 7Y =
Mm2|0|E
H4 |4 7|AHA]
H6 |6 aEsw
H8 |8 il
A20
6A |R1/8 e
8A |R1/4 o
= Hz F
QOouT = # T4 31 Ll FR
He |4 ——
H6 |6 =T
H8 |8 ZUFR
=HE
6A |R1/8 ==
8A |R1/4 0L
F1: B0l F52 LIA(M2.5%25) AT 2t 2717} HBEL|Ct ojmE
(NS T OUT 5 2 T4 720 6A, 8AS MM3 A0|= HREX| QAL EE
Z2: IN-OUT Q= 4LEAF B2 EFRIS 2528 THO| BHZIO| w2t 25tE, & E37 7H3HKIX| orzt
UEE 3 FHAIR. =
AFRL
o3 FRL
HUR
BZFR
HI R
Q2 n% 7 00} SAg
66 |IN=/OUT = &4 7% Rel/8 ALE
7HEZ2
88 |INZ/OUT = &4 7% Rel/4
— IER
(B F=10 EE
EFEIES e
EEEEETT 75
© =2 A ==
IRIXE] THE HIst 00f K
2
000 AERIRIAT A _ X277
EIL'IQF I‘IE.' TRtAl
P94 AH|QIZ|ATH AL TE|A A2 Z2A - L2 UA 23 SW
28 A2 (B4 FA-T 27} sn
Z: P94 £ MMEULICH 001 A
ZHUEE
4 SW
£210[04
AZHA
E2t0]0f
2R
E2to[of
ool 2tel
EE
caol
HiE7| 2|
B
CKD s



FCSSOO Series

 FRL

W& 7z 2 25 2AE

FR
—
R
L

=]
e

7174
_ wEHSwW

Mg
229
AejE ws
o7
A2 F

 HARR
EE
oTT
ZAFR
=S
_FRL
29| FRL

CECI
EE

o FRL
3 FR

—

_ el
2R
FR

=

oz

>
OHI

SR

00} SAH
A
HEEZ

MoJRIA

N
S| Eo

OX| Bt

Q@AHQIZ|A EFY

O5Z o|AE

{r
THH
oR

1 2

17

ouT

LY

I

BE %3

X| E}

1 A
o re

Z2(0f0t0|1=

U20|5(LZ0H0|E X2])

ouT

ol =7}

HI

= LA POX 2| HE
Hi 2 EfE) ABjolz|A Efel

2EQ12|A

£% Z2/0t00|1=

AHQI2|A

£% E2|0t0t0|1=
Iz
=

B

Z2(0f0t0|1=
=

o
ER L

Eo|Z2T

k=t

agt

agt

A|Q12|A

B | Tof | o=
.

B2 I0E | NN | nok |
mro | AL |

AHIQEA

=A 0T

E4 122 MY PY02/AE2R)

A8 LI0|ET 1928 MY P42 42

6 FIEZ|X| T|E

gz £32)

A3 LIO|E

=1 =
EE

(|
Ml 2
Nre
o

i
=

s CKD



FCSSOO Series

Y X
3] x| AD) [ -,
QI XL ) ERL
@=X| Bt @=:LEAL i 2 EFY F-R
& 74 4 714 =
IN Z(7tEE|X] OE) - OUT E(FIEZ|X| L|E) FIER|X| I|E - LIAL F
R
IN & ouT =
4 74 T4 74 4 77 B4 27 L
»4 v4 »4 R1/8 S0l
6 A 6 21 6 A R1/4 25 Ho|E
8 ; 8 ®8 — L
T ‘ I 9 o A3 sw
IN =R i\ IS N Il out DN o e
il ﬂ‘ Mt \ ] “1 oum) [ (IN) )~ hee
S S gz
L
416 ZeLEAF = =LEAL .JE'L
- " 2%
== . INZ ouT & =T
ikl B4 7Y 4 7% S FR
| i R1/8 A R1/8 »s o
o8 - R1/4 R1/4 ‘ ER
= A\ o UL
|N OUT M N 0'|EHE1
WELTE
s er
28 FRL
o3 FRL
715 &4 FCS500(EZ= H2|ME, 4X| E}l/4-LIA} Hi 2 EFRI) W
H4H4 | H4H6 | H4H8 | H46A | H48A | 6ABA | BABA | HBH6 | HEH8 | HE6A | H68A | 8ABA | 8AH8 | HBH8  ©=
_— H6H4 | H8H4 | BAH4 | HB6A 8ABA H8H6 | 6AH6 | 8AH6 H88A USFR
8AH4 HER
AX|$ 80.5 83 84 69.5 73 58.5 62 85 86 72 75 65 76 87 yymag
HA
AllE
AEEY
NWER
LEEDEE]
2 g
O@AHQIZ|A Ete) ng-58
=
OouT = ojof {4
60 e
N Rc1/8 XY 7|7]
= ! Rc1/4 HAA
R I Ny b
Rc1/8 *l\ A ER
Rc1/4 S ,
IN ¥ \HFJ (4l out 2
Bl
; Papy

CKD

=

2

d
=
FaE
2o
=
3

f

IM{uEZ| 0|0
mre

=
T 2
Nre
o

i
2

547



oletely S8 2

o

FCS1 000 Series

F.R.L e
———— S 2 g @< 714: Re1/4, Re3/8, R1/4, R3/8
S -V 2IE{%]| TIE: 08, 10, 012
LI | o JIS 7|5 ‘0
R ‘:!“3 CAD
L
=]
MI|0|E Al.%F

71714

RER AX| Et) AH[QIZ|A EQY(HF A4

e a2 FCS1000-(3¢1)(%2)-P90
(=] o "\~ A =
— FCS1000-(3¢1)(%2 iy
et (x1)0x2) FCS1000-(31)(¢2)-P94
S E2_ AZRA
T AEIR| T 08, 910, 912
belFR — 1o = S ©6, 915, @14, Rc1/4, Re3/80A] e
~ EET ouT & 2EK2) R1/4, R3/8, Rc1/4, Re3/80IA] At
=7 THE] MPa 15 2.25(¢= 271), 1.5(N2)
ZUFR LRt MPa 0.5
CoEHE AR MPa -0.095~0.99 -0.095~1.5(2% Z7[), -0.095~0.99(N2)
FRL
T mo|ecQFeE T 5~45
29 T T
7;!,?" ot um 0.01(XIH &8 99.99%)
zold X2 9  0/min(ANR) 300~400%")
U ol e Tl Ee 2EIZ| T/ 0[9j2] Z2 o5
AHFRL 0.15 0.11
T Hr Zz2(0t0r0|1= AH[QIZ|A
BFRL s (7012 £9 Z2jonto|= 2E2IE2
HEZR AT HE E D2 LU+ E
IZFR EYHA-EY SIS0 27 MM
E M EX M

F1: 1%} 24 0.7MPa, &3 45} 0.03MPa! Ii2] 7| S ULICE(HE FZ0f w2t HatgL )

HER
00} SAE
AlE
HEED
MOJEA
T ezean | QBEF EX
TTo |Jo
@®FCS1000-H8H8 @FCS1000-H10H10 @FCS1000-H12H12
L= @FCS1000-8A8A @FCS1000-10A10A @FCS1000-1010
= @FCS1000-88 @FCS1000-1010-P90-P94
@FCS1000-88-P90-P94
P.=0.3 P.=0.5 P.=0.1 P.=0.3 P=05 P,=0.7 P,=0.1 P,=0.3 P.=05 P,=0.7

N

WD o w1/ WImVAVEY
BRI 006 / / / // 006 / / / /
W W‘1 0.04 é// [ /’ ,/ 0.04 / ///

Q
]
]

=Tk W
LTk JHo
o
o
D
LTk JH

o

o

S
N

(MPa) (Mpa) 0. / (MPa) /
oH@ SW 0.02 0.02 0.02 /
0 0 0
0 02 04 06 08 1 0 02 04 06 08 1 0 02 04 06 08 1
&7 K2(m*/min[ANR]) 7| K(m*/min[ANR]) 7| RE(m’/min[ANR])

of
Al
0
FA

Nk e
WAL |

S
<218
1

=2
©°
u
re

ne

N |n
T 2 | 7
©




ogr

HEAY

%

OX| Efe

(Fes1000)-(H8)(H8)

715 e ON=
(22 Ak) 234 7
(29 M2l N
QouT:

A
o EHE57E

@AE|QIZ|A EfRI(F Hit)

“Festom - o)

-
@

7|5 ON=
(22 M) ¥4 77

(BR M2l Al

O HIHE HHE AH(ALHE 174, O 271)

-2xerle FCS1000-E

- AH|9I2|A EFY
Po02: FCS1000-E-P90(+= 44
Po42: FCS1000-E-P94 (== 42

27+ TX| S At

@2%} HX| HE SHHM At 7ttt &

FCS1000 —-+----ee —

(=21 No.CC-1226)

FCS1 000 Series

ERENET

H8 »8
H10 |10
H12 |12
8A R1/4
10A |R3/8

8 Rc1/4
10 Rc3/8
©OUT £ 2 HL 13

H8 ®8
H10 |[¢10
H12 |12
8A R1/4
10A |R3/8

8 Rc1/4

10 Rc3/8

F1: HE0l= 7% LIA(M3 x40), HAM, 20

9HM7} 2t 274 MR ELCY,

FRL
FR
PR
R

L

cajol
M- 0|E

714
EERY

key
a2
AEIE e
oz
xZ F

g FR
a0
[=hpp
3YFR

=HE

FRL

S8/ FRL
OfHE]

ES[E]

eV
AHFRL
I8 FRL
¥UR
FR
HZR

00 A8

(o]

>
OHI

= [Ame
O IN = B F2 73 ane

8 Rc1/4

NI

10 Rc3/8

4
02 U

O OuT = & H& 73

0g-5e
8 Rc1/4 °
10 | Rc3/8 =
© 22 A o
TX/XE THE Hst Hal 77|
P90 AHQZ|A M2 AMS HIH
29 33| Y3 SW
Po4 AHQIZ|A HE AL TEA M2 ZA - E2UA
=7 M| (BA-FA-EA) Bt

CKD

=

2

d
=
FaE
2o
=
3

f

IM{uEZ| 0|0
mre
pcl
O

=
T 2
Nre
o

i
2

549



FCS1 000 Series

FRU UE PE Y REIAE

FR | @ax &g ®AE0121A Efg)
—
R
L

c3ol
Mm01E
7|A1A
&4 sw
L
329
AEJE 5
st
Mz F
HAFR

0
oTT

Y FR
=HE

FRL
29 FRL

OfEHE]
=04

HI gIAE
Qe OFE ElAE

5toxl Eg Za|0010|= AHIQI2[A

4F
& FR

—

i

=

A2 EE Z2|mEL

al
=

oz

TE(RY P

=) Zp|otOro|= AHQI2|A

o X

>
OHl

F.
=81 Z2(0t010|1= -

ﬁ Hzof £X| Ef2) AH|QIZ|A EH
1
2
3
4

_ERR %2 078 12 PO03 39)
n =1

et
SR i Lo EZ IR (ZE

i

At P942| ZR)

of g MR TE 25Uz =3)

ALE (B4 74 08, 910, 012) 435} LIO|IER 12

HEEZ 5
O{HHE U201

R 3 AH[Ql2[A
(M4 74 Rc1/4, Re3/8, R1/4, R3/8) (YZ2010|E X2])

Mof2IA

=
oz
(=1

=

(20
TN
e

HZEH|A
== [e}]
== ][]
ool 2tel
IE

=]
Hi=7] 2

zy |

% CKD



FCS1 000 Series
o XIeE
QI3 X|aE G FRL
+=X| Bt FR

86 F

f 2= R
L == —
: L
e ;| - =
c = Mm2|0|E
< T|HA
@ < o= sw
4-4.4 e
v i
a2
AEIE #o
oz
Hz F

H2HFR

4.3,

o n
Tt it

o _\ - '..'IT - == J
£ LIAKM3 x40)\/; SYUFR

=HE

FRL
SYFRL

- 2IE{X| T|E(8, ©10, ¢12) - Rc LIAKRc1/4, Rc3/8) g%"‘la

[
y
b
h
W
[
v

a0
aoTT

3472 eV

0 A B5TS AHFRL
»12 Rc1/4 o e—
f h % FRL
d “’I

Rc3/8
)] 5,— YR

FR

HSR

00} BAH
8 ©8 YEX| L[ 12 0175 W
H10 »10 SEX| D& 14.5 »17.5 EnNCE
H12 12 YER| TE 16 195 |11
8A R1/4 24 -
10A R3/8 24 - L=

8 Rc1/4 1 - oporen
10 Rc3/8 1 -

(o]

>
OHI

- R LIAK(R1/4, R3/8)

o
T F3
o

N
M4 78

R1/4

f R3/8

>

@AH|QIZ|A EfYY

IN = ‘ 95 ‘ ouT=
B 72
Rc1/4
Rc3/8

)
e
=
A | ofn| o:
o=
7”2

\
23

HI | u

o
=]
S

1=

IN{pEZ| N[N [no!
mre

O
re

=
M
~
1o

i
2

CKD 551



F C S Series

F.R.L

X2 ALE 2= 0f

F-R
—
R
L

c3ol
Mm01E
7|7
R
L
329
AEJE 5
st
Mz F

02 1. FE o1t 28 TEZM 0f|0f-N2 7tA0] Y Oaf, S 0019 &

oof9|

#e

£

N

010 E210]04 0fl0f HE
SD F3000

N

N2 &4

o
-

0!

HotFR
0
o T
39FR
=HE
FRL
=9 FRL

OfEHE]
=04

22y
g FRL
3 FR

—

i

=

al
=

0x
o | O

>
OHI

F.
SR

O] AR
ALE
HEES?

MO

o

2430 5W
001 M

ZHUEE

|2l 2kl
L

cgel

HiZ7] 2
=

=}

5562

=

olof @ufzjo|=
e

AMD

22
EEC M
RC2000

02k 2 TS It HEZM T1F It 3|Z0|M2| 2=,

S 0o S5

[pa}
OH

Qlafoly 22 2

FCS

CKD

D

5

o

\V4



= LSLC XtMet A2 CKDZ2

W23 HAEO] £/H2l, Seal £2{7t il MEE UX| EHY
BSZ  :100/min(ANR)FD
BEL 7Z :R1/8

FCS500 the¥ ErY

WFCS500 A|2|X9| Q& SiTh A
[ =E : 100~120 0 /min(ANR)*"
W3S 714 06, 08 EX| L8, R1/8, R1/4

FCS500 L& mg Et

BLSY 2EX| DEOZ Z7F MoF Hi & 7Hs
ESZ  :50~80 0 /min(ANR)®"
WES 72 04, 06, 08 LY HEX| I|E

FCS1000 AEQI2|A RS Et

ESZ 450 0 /min(ANR)®
WX4 717 : Rel/4, Re3/8

I 449l F& +H, 7800 2= CKDZ 22/ FHAIL.

FCS tie2 ti7d Bt
[ I=ET; : 2000 @ /min(ANR) O[AH#F2)
BE4 74 Re

WD A d2015(YR00|E X2])

UL

Mo

2: 11X} &3 0.7MPa, &3 25t 0.03MPag Q] X=7|
Ho| R, 730 HollM= CKDZ 22t FHAIL.

F C S Series

D" 4

@)

FRL
FR
PR
R

L

cajol
M- 0|E
7|74
RER
iz
sz¢
AEIE g5

3
L

3

i
M= F

HeFR
0
[=hpp
BYUFR
EnE
FRL

S9FRL

CEE]
ESIIE

2
AYFRL
YRR
YUR
FR

001 FAEH
ALE
HEZ?]

AOJIA

02 U

(o]

>
OHI

108w
0]0f 44

‘/?D“
H

@

e N
z
2
Rl

Y| noz
LA U B | TUof | o
(=] =y

IN{uEZ|InkE N
mre
pcl
O

=
T 2
Nre
o

i
2

CKD 553



